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Welcome Back! I hope you had a restful break. I want to thank you for the wonderful 2018. It was my privilege teaching you and I look forward to
2019 as wonderful as 2018! Each of you all is a precious student to me. We were on the vector unit. Today you are just reviewing the previous
material and will learn ‘cross product’ tomorrow. Work on the following questions to refresh what we did on the vector unit.
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a. Find vector ¢ in the direction of vector a with a magnitude of 5 units.

laf = Qq-rlewfr— )
\ _ '
s (4 - g5 me) s ‘§J*§{—@
b. Find a-b .
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¢. Find the angle between a andb . Leave your answer rounded to 3 sig figs in radians.
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3. The following diagram shows two perpendicular vectors r and m.
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a. Let b =r — m. Represent b on the diagram above.

b. Given that r =5i—6j+wk and m =—4i+2j+k, find the value of w.
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6. Consider points P(5,~4), O(8,3), and R(m,-8). Find mif QPR is a right angle.
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7. A(4, -2, 5), B(13, 1,-2) and C(1, r, #) and collinear. Find » and 1. @
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